Les seize opérateurs logique

78

B. Les seize opérateurs logique

B [=] ]
o o ~ o — Al
Il S8 SIS 1 — Il m
® 1 S
~
=) < o1 o T =)
sl 1o Il PPN I is [P
s 8.3 ~ is P - S o 8
> 3 I8 3 - I3 3 I °
Il Il > Il —_—
— [ [ [ I o o
- R I - g g o oo
o0 O
Slleoeo = -~ - ; Sloe— =~ 58% 8= S e I S - - EACRCAC] SIS
Il
- Il
Qe - o — Qllo— o - I I Qo - o S - Qe - o - I I
[ [ ” ! g o
2 0 Y B S
FNNO O — = = SO O — SO OS —~ - SO O~ - =
o] _m_ =] IS 1o
© Is 1o IS _m_ = [SEESHE S <
SIS Il — ! I'S I°7s —
Il ol o s
o = Il ] I
I
P I8 S s > 4 3 L
SN | b S
S
Is 1o I IS 1 IS s = )
S
s (8o - Il i1 <« I
Slleoo—~o NEEERE I S~ —o EIS) = = - o
S o s " Il = ety kes
=Y o
[SEES) 3
Qoo — o — | | Qo — o — Qo - o — Qo+ o —
Il Il Il
o o
S|l o~ — B S |30 — — S|l —~ —~ um =R =T m m
R TS m < o I8 _m_ o O _m_ Is =
g ! i S S S 55 m— |2
Il I %) © S
. S's NS Il Il .M,_M Il Il
> TS o R o a I
3 5y I >
S s o3
Is = Il [SlC] I EEE S S S
SIS
. SEFSSNIS IS - Il IS o S S o I
Sl oo~ I~ —| oo Sll— oo~ Sf— e~ Il
SIS 3 IS 8o D D D
I I ISl e gleg
Lo — o — I I Lo — o - | | Lo — O — 2 2 Lo — O — Il
Il
- - a
Blloo —~ —~ 3 8 |glloo = — g 2 Sllo o —~ —~ Sloo — ~ s 2
o _m_ Q [ |
I E S [+] E '8 [se [] } YIS Ww
o IS ! I o Is =
= W.u 3o © SIS Il Vla
By Il
Is = g [ a —
- [ESIES
SIS [ISAES) Il [ISAESY [SEESY ;.m.ﬁ
[IS]
S EES) ,w e IS = ] IS Il ~ Il Il
Slleoc oo o~ oo Qoo IS 1s Sl— e e
| | s o s 318 EACECES
Qoo — o — g g |ejlo—o - ' ' ol - o — ' ' ol - o —
Il Il
=
Sllo o — — Sllo o — — > 3 Sllo o — — 2 ES Sllo o ~ ~ m W




